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Transit's role in fighting 
climate change

⚫ BFAST supports the draft Plan overall

⚫ Transit can play a much bigger role than 
projected in the draft Plan

⚫ The draft Plan understates the benefits 
of transit
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Transit's contribution

⚫ Transit's greatest contribution:
reducing the number of vehicles on our 
roads

⚫ Average GHG emissions from one car:
4.6 tonnes/year

⚫ An obvious target for GHG reduction

Are electric vehicles the solution?

⚫ “While electric cars are part of a strategy to 
reduce GHG's, the real solution is to reduce the 
number of private cars on the road.”
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Vehicle Infratsructure

⚫ “Besides their very large GHG emissions, cars 
require huge, heat-radiating infrastructure in the 
form of roads and parking lots, regardless of the 
fuel they use. This infrastructure requires large 
quantities of petrochemical products to build 
and maintain."
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How environmentally friendly?

⚫ EVs are more damaging to the environment 
than fossil-fuel-powered cars where 
manufacturing is concerned

⚫ They begin life with a carbon deficit

⚫ Result of the lithium extraction process

A cornerstone of environmental policy?

⚫ EVs will help to reduce greenhouse gases

⚫ They can be a part —but not the extent— of a 
policy to fight climate change

⚫ Priority must be to reduce the number of 
vehicles on the road
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The A-S-I approach

Burlington's draft Plan pays lip service 

to the  A-S-I approach...

The A-S-I approach

⚫ ...but Burlington's draft Plan applies the ASI 
priorities  backwards
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Economic benefits of more transit

⚫ The draft Plan grossly underestimates the 
economic benefits of transit

⚫ Studies have been done in other communities 
across Ontario, (e.g. Hamilton)  which 
determined much larger benefits from increased 
transit

⚫ Burlington needs a study of the economic 
benefits of transit in our community
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How compounding works

How the draft Plan 
calculates ridership 
growth:

Year 1: 100+10%=110

Year 2: 110+10%=120

Year 3: 120+10%=130

Year 4: 130+10%=140

Year 5: 140+10%=150

How it really works:

Year 1: 100+10%=110

Year 2: 110+10%=121

Year 3: 121+10%=132

Year 4: 132+10%=143

Year 5: 143+10%=157

The draft Plan's calculations are off by about 15%


